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permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
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97x36+25+97x64+25= 9
=97 x (36 +64) + 25=97x100 + 25 =97 x 4 = 388

901+802+703+604 +---+109= ?
=(900+800+700+---+200+100) + (1+2+3+---+8+9) = 4500 + 45 = 4545

5x27 +15x9+45x3+135= 9
=135+135+135+135=135%x4 =540

9999 + 2015+ 2015%x9999+99 +99 = ?
=9999 + 99 +99 + 2015 x (1+ 9999) =10000 + 2015x 10000 = 20160000

125 . 14x196x -3 = 9
4 25
:12_5x% 1 _1000 14140

100+99+98-97-96-95+94+93+92-91-90-89+:--+4+3+2-1=7
=(100+99+98-97-96—-95) +(94+93+92-91-90—-89) +---+
(10+9+8-7-6-5)+(4+3+2-1)=9+9+---+9+8=9x16+8=152
%/—J

1675

(E %—ﬁ) 101010 =

~11x (—+%——) 101010 =11 (= + 1—3X3

30 30
x101010 =11x % x101010=11x10101=111111

)x101010

_11,0*F7=9)
30
11118888 + 33336666 -+ 55554444 + 77772222

9999
10008 + 30006 + 50004 + 70002 160020

9

2015x (202 x5+15) + 5x 45— 4030 x15= ?
= 2015x 2015 +15x15 — 2 x 2015x15 = (2015 — 15)* = 4000000

=7

=17780




10. 0.8+9.8+99.8+999.8 +9999.8 + - + 999999999.8 = ?
=(1-0.2)+(10-0.2) + (100 - 0.2) +---+(10° = 0.2) =1111111111-2 =1111111109

11. 785.123+758.132+875.213+857.231+578.312 +587.321= ?
=(5+7+8)x222+(1+2+3)%x0.222 =4440+1.332 = 4441.332

12. 123454321x (1+2+3+4+5+4+3+2+1) +55555= 7

=11111% x5° + 55555 = 55555
2015+ 2010+ 2005+---+15+10+5

" 4037 —402% +401° —400° +---+ 3" - 22 +1
B 5(403+402+401+---+3+2+1)
(4032 —402%) + (4012 — 400%) +--- + (32 = 22) +1
_ 5(403+402+401+---+3+2+1)
_(403+402)+(40l+400)+---+(3+2)+1_

9 17 33 65 129 257

=9

14, 25> _ 20 20 > 229 0 _ o
2 4 8 16 32 64
:25—43—43—4l—4i—4i—4i:1—(1+i2+i3+i4+i5+i6
2 4 8 16 32 64 2 22 2 2 2 2
_1_(2 +2'+2°+2° 4241 _1
2° 64

20152015 20152014

15. 201512014 201512015 =9

20152014 20152015
20152015% — 201520142

20152014 x 20152015 _ 20152015° — 20152014
20152015-20152014 ~ 20152015- 20152014

20152014 x 20152015
_ (20152015+20152014)(20152015-20152014)
1

=20152015+ 20152014 = 40304029

1599 734 462 462 734 1599 734 1599 462
: x( +1) - X (e — +1)— (2 — +1)=7?
2015 ‘2015 2015 2015 2015 2015 2015 2015 2015

1599 734 1599 462 1599 462 734 462 1599 462

2015 2015 2015 2015 2015 2015 2015 2015 2015 2015
734 1599 734 462 734

2015 2015 2015 2015 2015
1599 462 734 1599-462-734 403 1
2015 2015 2015 2015 2015 5




17. 5£+2£+1E+E+ﬁ= ?
15 35 63 99 143
78 78 78 78 78
= - + + +
3x5 5x7 7x9 9x11 11x13
O T IPYAUE S S S S S SRS GHE U5 7 O5
2 3 55 7 7 9 9 11 11 13 2 39

18. 999999999 +1999999999 =
=999999999 x (1000000000 —1) +1999999999

=999999999000000000 — 999999999 + 1999999999
=999999999000000000 +21000000000 =1000000000000000000 = 10"

10

1010 20
19. 9999x 11 933 =7
1.65+90— x1—>
11”720
1010 33 1010x3 1010
~ 11 20 _ 20 11
_9999x33+999><33 = 9999 % gty = 9999 <1515 = 9999
20 11 20 20 11

20. 1x2+2x3+3x44+4x5+5x6+---+99x100= ?
1x2 2x3 3x4 4x5 5x6 98x99 99x100
=2x( + I + + +eet +
2 2 2 2 2 2 2

)

OX[L (L4 2)+ (14 243)+ (L4 2+ 3+ 4) 4ot L4243+ 4+ 4 98) + 22100

]

=2x{[1+@@+2)]+[Q+2+3)+(1+2+3+4)]+--
99x100

+[Q+2+3+4+--4+97)+(1+2+3+4+---4+98)] + }

99x100

=2x(2°+4°+6" +---+98° + )

99x100
2

=2x[4x (1P +2°+3 +---+49°) + ]

49x50x99 N 99x100

2
98 x100x99 N 99x100
6 2

=2x(4x% )

= 2 )

=99><100><(9—??+1)

_ 99x100x101 _ 333300
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(n=Dxnx(n+1)

I1x2+2%x3+3x4+4x54+5x6+---+(N=1)xn=

[P 1]
(i)

3

(if)

n+1

[#p 2]
A K FAE A 3(Ax2+2x3+3x4+4x5+5x6+---+n(n+1)=n(n+1)(n+2) :




e 3]
e K EBR3(Ax2+2x3+3x4+4x54+5%x6+---+(n=1)xn)=n’-n :

a1 /

-

2° -2

antlly

L

3-3

w

3(1x2) 3(2x3)
[zr 4]
1 1+2+---+n
1+2+3
n+21 1+2 n(n+1)
1] 2x3]| 3x4
12
v
P n(n+1) -
= > R
AT =1+2+--+k » Bl A
1><2+2><3+3><4+~--+n(n+1)+(T1+T2+...+Tn):n(n+1;(n+2)
m
T1+T2+---+Tn:%(1><2+2><3+3x4+...+n(n+1))
HA
%(1><2+2><3+3><4+...+n(n+1)):n(n"'l;(n"‘z)
n(n+1)(n+2)

Ix2+2x3+3x4+---+n(n+1) = ;



